
Algebra 1 Honors  Set Theory Assignment 49 pts total      Name:________________________________________ Mod ______ 

1.) Place an X in each box that applies to the number in the given row. (7 pts total) 

 𝑁𝑜𝑡 𝑅𝑒𝑎𝑙 𝑅 𝑄 𝑃 𝑍 𝑊 𝑁 

−√49        

√−16        

1.739 …        

−2. 3̅        
−17        

10.795        
Use the given sets to find the following. Use the Venn diagram if you would like. Write answers in roster or interval 
notation. (Be sure to remember when you can and cannot use one of these to denote your answer). (#s 2-9 are a total of 
25 pts) 

  𝐴 = { 𝑥 | − 2 ≤ 𝑥 ≤ 2} 

  𝐵 = { 𝑥 | 0 < 𝑥 ≤ 7} 

  𝐶 = {𝑥 | − 5 < 𝑥 < 1} 

2.) 𝐴 ∩ 𝐶 = 

 

 

3.) 𝐵 ∩ 𝐶 = 
 

 

 
4.) (𝐴 ∩ 𝐵) ∪ 𝐶 = 

 

 

 
5.) (𝐴 ∪ 𝐶) ∩ (𝐴 ∪ 𝐵) = 

 
 
 
 
 
 
 

6.) 𝐶 ∪ (𝐴 ∩ 𝐶) = 

 

 
7.) 𝐴′ = 

 
 
 

8.) 𝐵′ ∩ 𝐶 = 

 

 
9.) (𝐵 ∩ 𝐶)′ = 



Use the given sets to find the following. Use the Venn diagram if you would like. Write answers in roster or interval 
notation. (Be sure to remember when you can and cannot use one of these to denote your answer). Write your answers 
to #10 and #11 in interval notation. (#s 10-14 are worth 17 pts total) 

  𝐴 = { 𝑥 | 𝑥 ∈ 𝑊, −7 < 𝑥 ≤ 8} 

  𝐵 = { 𝑥 | 𝑥 ∈ 𝑍, −4 < 𝑥 < 5} 

  𝐶 = { 𝑥 | 𝑥 ∈ 𝑁, 𝑥 ≤ 4} 

 

10.)  𝐴 ∪ 𝐶 = 

 

 

 

 

11.) 𝐴 ∪ 𝐶′ = 
 

 

 

 

 

 

12.) (𝐵 ∩ 𝐶) ∩ 𝐴′ = 

 

 

 

 

 

13.) (𝐴 ∩ 𝐵)′ ∪ (𝐴 ∪ 𝐶)′ = 

 

 

 

 

 

 
14.) 𝐴 ∩ 𝐵 ∩ 𝐶′ = 

 

 

 

 

 


